
1. Select the correct mirror image of the given combination

when the mirror is placed at MN as shown.

दिए गए सयंोजन के सही िर्पण प्रदिदबंब का चयन कीदजए जब िर्पण को

MN र्र रखा जािा है, जैसा दक दिखाया गया है।



I. Since the past three years, State M has reported a sharp and substantial decline in

the state’s agricultural produce.

I. दर्छले िीन वर्षों से, राज्य M ने राज्य की कृदर्ष उर्ज में िेज और र्यापप्त दगरावट िजप की है।

II. In the last five years, there has been an increase in the overall average Rainfall by

6% in State M bringing respite to the farmers.

II. दर्छले र्ााँच वर्षों में, राज्य M में कुल औसि वर्षाप में 6% की वृदि हुई है, दजससे दकसानों को राहि

दमली है।

a) I is the cause and II is its possible effect/ I कारण है और II इसका संभादवि प्रभाव है

b) Both I and II are independent causes/ I और II िोनों स्विंत्र कारण हैं

c) II is the cause and I is its possible effect/ II कारण है और I इसका संभादवि प्रभाव है

d) Both I and II are effects of independent causes/ I और II िोनों स्विंत्र कारणों के प्रभाव हैं



Q.2 Arrange the following words as per order in the 

dictionary and choose the one that comes second last: 

/शब्िकोश में दिए गए क्रम के अनुसार दनम्न शब्िों को व्यवदस्िि 

करें और एक का चयन करें जो अंि से िूसरा आिा है:

(i) Scholarship 

(ii) Schedule 

(iii) Scheme 

(iv) Scholar 

A Scholar B Schedule 

C Scheme D Scholarship



Q.3 िी गई प्रदिदक्रयाओ ंसे लुप्त अक्षरों / संख्याओ ंको

ढंूढें। /Find the missing letters/numbers from the 

given responses.

D,     E,      G,      F,     ?,      ? 

A] H, N B] G, M 

C] E, P D] G, Q



Q.4 6 persons A, B, C, D, E and F are living on floors 1 to 6 in a building, 1 being the 

lowest floor and 6 being the top most floor. A lives on a floor below which B lives. C and 

D live on consecutive floors. D lives on a floor below A. A and B do not live on consecutive 

floors. F does not live on a floor between A and B. If B neither lives on the lowermost not 

topmost floor, who lives on floor 3? /

6, A, B, C, D, E और F में 6 व्यदियों की इमारि में 1 से 6 मंदजल र्र रह रहे हैं, 1 सबसे कम मंदजल है 

और 6 सबसे ऊंची मंदजल है।A एक मंदजल र्र रहिा है दजसके ऊर्र B रहिा है। C और D लगािार मंदजल 

र्र रहिे हैं। D ऊर्र एक मंदजल र्र रहिा है A और B लगािार मंदजल र्र नहीं रहिे हैं।  F A और B के बीच 

एक मंदजल र्र नहीं रहिा है यदि B दनम्निम मंदजल र्र नहीं रहिा है, िो मंदजल 3 र्र कौन रहिा है ?

A] F B] A 

C] C D] D



Q.5 दवकल्र् को खोजें जो (?) को इस प्रकार प्रदिस्िादर्ि करे दक, िूसरी जोडी र्हली जोडी के समान 

संबंध साझा करे। / Which of the following image will replace “?” so that the images 

are analogous?



Q.6 Complete the following figure according to the given pattern / दिए गए 

रै्टनप के अनुसार दनम्नदलदखि आंकडा रू्रा करें 



Q.7 एक श्ृंखला लार्िा शब्िों के साि िी गई है। दिए गए दवकल्र्ों में से 

सही दवकल्र् चुनें जो श्ृंखला को रू्रा करेगा। /A series is given with 

one term missing. Choose the correct alternative from the 

given ones that will complete the series.

PQ,      HI,          DE, ? 

A] BC B] DE 

C] AB D] CD



Q.8 A series is given with one term missing. Choose the 

correct alternative from the given ones that will complete 

the series. / एक श्ृंखला लार्िा अंकों के साि िी गई है। दिए गए 

दवकल्र्ों में से सही दवकल्र् चुनें जो श्ृंखला को रू्रा करेगा।

11,     17,     23,     31,      41,       ? 

A] 49 B] 51 

C] 43 D] 47



Q.9 दनम्नदलदखि प्रश्न में, दिए गए दवकल्र्ों से संबंदधि अक्षरों

का चयन करें। / In the following question, select the 

related letters from the given alternatives.

EO : JD : : IL : ? 

A] SZ B] SX 

C] QZ D] RX



Q.10 C is the Father of B , K is the brother of B , P and T are Sisters , 

T is the daughter of B , How is P related to C? / 

C,B का दर्िा है, K ,B का भाई है, P और T बहने हैं, T,B की बेटी है। P, C से कैसे 

संबंदधि है?

A] Grand Daughter/ र्ोिी

B] Aunt / चाची

C] Daughter/ बेटी

D] Neice/ भिीजी



Q.11 इस प्रश्न में दिए गए दवकल्र्ों में दवर्षम जोडी ढंूढें। 

/In this question find the odd pair from the given 

choices

A ध्वदन-दवज्ञान - ध्वदन / Acoustics - Sound

B ऑक्सोलॉजी - दवकास / Auxology - Growth

C बैरोलॉजी - दकिाबें / Barology - Books

D दक्रप्टोग्राफी- कोड / Cryptology - Codes



Q.12 Choose the set of numbers from the given 

alternatives that is similar to the given set. / दिए गए 

दवकल्र्ों में से संख्याओ ंके समुच्चय को चुदनए जो दिए गए 

समुच्चय के समान है।

(29,19,9)

A] (16,14,12) B] (21,12,9)

C] (16,12,8) D] (15,12,9)



Q.13 दचत्र 1 के समान िकप  के बाि ‘? 'के रूर् में प्रदिदनदधत्व दकए गए दचत्र में लार्िा मान 

ज्ञाि कीदजए। /Find the missing value in the figure represented as ‘?’ following 

the same logic as the figure 1. 

A] 76 B] 84 

C] 78 D] 62



Q.14 In question, which one of the given 

responses would be a meaningful order of the 

following words in alphabetical order? / प्रश्न में, 

िी गई प्रदिदक्रयाओ ंमें से कौन सा वणपमाला क्रम में 

दनम्नदलदखि शब्िों का एक अिपरू्णप क्रम होगा?

1) Beta 

2) Gamma 

3) Alpha 

4) Delta A] 3, 2, 1, 4 B] 3, 4, 1, 2 

C] 1, 3, 4, 2 D] 3, 1, 4, 2



Q.15 दनम्न में से कौन सा दचत्र  '?' को प्रदिस्िादर्ि करें

िादक िोनों जोडों में समान संबंध हो? /Which of the 

following images will replace ‘?’ so that both the 

pairs are analogous?



Q.16 I. Country X reduced their crude oil import by 6% in the last 5 years.

I. िेश X ने दर्छले 5 वर्षों में अर्ने कच्चे िेल के आयाि में 6% की कमी की है।

II. The automobile industry in Country X has witnessed a sharp decline of 13% in its

growth margin this year.

II. िेश X में ऑटोमोबाइल उद्योग ने इस वर्षप अर्ने दवकास हादशए में 13% की िीव्र दगरावट िेखी है।

a) Both I and II are effects of independent causes./ I और II िोनों स्विंत्र कारणों के प्रभाव हैं।

b) I is the cause and II is its possible effect./ I कारण है और II इसका संभादवि प्रभाव है।

c) II is the cause and I is its possible effect./ II कारण है और I इसका संभादवि प्रभाव है।

d) Both I and II are independent causes./ I और II िोनों स्विंत्र कारण हैं।



Q.17 In the following question, select the related 

number from the given alternative / दनम्नदलदखि 

प्रश्न में, दिए गए दवकल्र् से संबंदधि संख्या का चयन करें

7 : 350 :: 8 : ? 

A] 450 B] 64 

C] 520 D] 420



Q.18 किन: सभी लोग जो अच्छी नींि लेिे हैं वे सफल होिे हैं। राम, लंबे समय िक कडी मेहनि करने के 

बावजूि, र्यापप्त रूर् से सोिे हैं।/

Statements: All people who sleep well are successful. Ram, in spite of working hard for 

long hours, sleeps adequately. 

दनष्कर्षप: / Conclusions:

I - राम एक मेहनिी कायपकिाप है। / Ram is a diligent worker.

II - राम एक सफल व्यदि हैं। / Ram is a successful person.

A] केवल मैं अनुसरण करिा ह ं / Only I follows

B] केवल II अनुसरण करिा है /Only II follows

C] न िो I और न ही II अनुसरण करिा है / Neither I nor II follows

D] मैं और मैं िोनों का अनुसरण करिे हैं / Both I and II follow



Q.19 Find the missing letters in the sequence given below / 

नीचे दिए गए अनुक्रम में लार्िा अक्षर खोजें

p p q _ q _ p q _ _ p q _ s t 

A] pprrs B] pqppr

C] prrsr D] pprss



Q.20 नीचे दिए गए दचत्र में वगों की संख्या की गणना करें। / Count the number of 

squares in the figure given below.

A] 30 B] 32 

C] 34 D] 36



Q.21 From the given alternative words, select the word which can be 

formed using the letters of the given word? / दिए गए वैकदल्र्क शब्िों से, उस 

शब्ि का चयन करें दजसे िी गई शब्ि के अक्षरों का उर्योग करके बनाया जा सकिा है?

CTIYMSVKTORLE 

A] VIOLENCE B] VENIAL 

C] STORM D] TIMBER



Q.22 दनम्नदलदखि में से दकस आंकडे में, नीचे का आंकडा दछर्ा है?. 

In which of the following answer figures, the below figure is 

hidden/embedded?. 



Q.23 In this question, find the odd 

option from the given choices. / इस प्रश्न

में दिए गए दवकल्र्ों से  दवर्षम प्राप्त करें।

A] Mouse / माउस B] Keyboard/ कीबोडप 

C] Windows / दवंडोज D] Monitor / मॉदनटर



Q.24 Which of the following numbers will replace the question

mark (?) in the given series?/दनम्नदलदखि में से कौन सी संख्या िी गई

श्ृंखला में प्रश्नवाचक दचह्न (?) को प्रदिस्िादर्ि करेगी?

11, 20, 43, 94, 187, 336, 555, ?

a) 777 b) 888

c) 858 d) 758



Q.25  दनम्नदलदखि में से कौन सा संकेि र्रस्र्र जुडा होना 

चादहए िादक दिए गए समीकरण सही हों?/ Which of the 

following signs should be interchanged so that the 

given equation is true?

24 − 5 × 200 ÷ 4 + 30 = 100 

A]  × ,  - B] × , ÷

C] -,  ÷ D] × , +



Q.26 In the following question, select the related 

word from the given alternatives. / दनम्नदलदखि प्रश्न में, 

दिए गए दवकल्र्ों से संबंदधि शब्ि का चयन करें। 

लौह: जंग:: रोटी:? / Iron : Rust : : Bread : ? 

A] Waffle B] Crust 

C] Thick D] Griddle



Q.27 श्ृंखला में अनुर्दस्िि संख्या बिाए / Find the 

missing number in the series

17,     17,     20,     28,    ?,       67 

A] 43 B] 37 

C] 51 D] 56



Q.28 Which one of the given responses would be a meaningful order of 

the following words in reverse alphabetical order? / िी शब्िों में से कौन सा 

दवकल्र् दवर्रीि वणपमाला क्रम में दनम्नदलदखि शब्िों का सािपक क्रम होगा ?

1) Revolutionize / क्रांदिकारी बिलाव

2) Radioactive / रेदडयोधमी

3) Resolvable / ररजॉल्वेबल

4) Retroactive / रेट्रोएदक्टव

A] 1, 2, 4, 3 B] 4, 1, 2, 3 

C] 1, 4, 3, 2 D] 1, 3, 4, 2



Q.29 One evening Ram and Mohan were talking to each 

other face to face. If the shadow of Mohan was exactly to the 

right of Mohan, then which direction was Ram facing?

एक शाम राम और मोहन एक िूसरे से आमने-सामने बाि कर रहे िे। यदि 

मोहन की छाया मोहन के ठीक िायीं ओर िी, िो राम का मुख दकस 

दिशा में िा?

A.EAST 

B. WEST

C.NORTH 

D. SOUTH



Q.30 At sunrise, Rohit and Mohit are having a 

conversation standing in front of each other. The 

shadow of Mohit is formed towards the right hand 

of Rohit. What direction is Mohit facing?

सूयोिय के समय रोदहि और मोदहि एक िूसरे के सामने खडे 

होकर बािचीि कर रहे हैं। मोदहि की छाया रोदहि के िादहने 

हाि की ओर बनिी है। मोदहि का मुख दकस दिशा में है?

A.EAST 

B. WEST

C.NORTH 

D. SOUTH



THANK YOU


